

Some Results of k -Hypergeometric Functions Associated with Integral Transforms and Fractional Calculus

Vinita Gupta and Mukul Bhatt

Abstract—In this paper the Laplace Transform, Fractional Fourier Transform, Fractional integration and k -Fractional differentiation of the k -hypergeometric functions are investigated. An integral representation of some special functions is used to develop these results. Since the results derived here are general in nature, it is expected that they will be a useful addition in the theory of integral transforms and fractional integrals.

Index Terms— k -gamma functions, k -beta functions, k -hypergeometric functions, k -beta transform.

MSC 2010 Codes – 33C05, 44A05

I. INTRODUCTION

MUBEEN and Habibullah [1] defined k -hypergeometric functions and k -fractional integrations[2] as a variant of Riemann-Liouville fractional integrals. Diaz and Pariguan [3] have deduced an integral representation of k -gamma functions, k -beta functions. They have also studied k -hypergeometric functions based on Pochhammer k -symbols for factorial functions. These studies were extended by Mansour [4], Kokologiannaki [5], Krasniqi [6] and Merovci [7] elaborating and strengthening the scope of k -gamma and k -beta functions. Romero et.al[8] introduced a new fractional operator called k -Riemann-Liouville fractional derivative defined by using the k -Gamma functions. They also investigated relationships with the k -Riemann Liouville integrals and derived some properties by using Fourier and Laplace transforms. There have been some important generalizations of these functions that have been thoroughly investigated.

II. DEFINITIONS

k -Gamma Function

The integral representation of k -gamma function[3] is

$$\Gamma_k(x) = \int_0^{\infty} t^{x-1} e^{-\frac{t^k}{k}} dt, \quad \operatorname{Re}(x) > 0$$

k -Beta Function

Vinita Gupta is an Assistant Professor in Department of Humanities & Sciences, Thakur College of Engineering & Technology, Mumbai-400101, Maharashtra, India.
(E-mail: vinita.gupta@thakureducation.org).

Mukul Bhatt is an Assistant Professor in Department of Humanities & Sciences, Thakur College of Engineering & Technology, Mumbai-400101, Maharashtra, India.
(Email: mukulbhatt1971@gmail.com)

The integral representation of k -beta function[3] is

$$B_k(x, y) = \frac{1}{k} \int_0^1 t^{\frac{x}{k}-1} (1-t)^{\frac{y}{k}-1} dt, \quad x > 0, y > 0$$

The relation between k -beta and k -gamma function is

$$B_k(x, y) = \frac{\Gamma_k(x)\Gamma_k(y)}{\Gamma_k(x+y)}$$

k - Hypergeometric Function

The k -Hypergeometric function defined by Mubeen and Habibullah [1] is

$${}_2F_{1,k}[(\alpha, k), (\beta, k); (\gamma, k); z] = \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k}(\beta)_{n,k}}{(\gamma)_{n,k}} \frac{z^n}{n!}, \quad k > 0$$

Laplace Transform

The Laplace Transform [9] of $f(t)$ is defined as

$$L\{f(t)\} = \int_0^{\infty} e^{-st} f(t) dt$$

Fractional Fourier Transform

Let f be a function belonging to Lizorkin space $\phi(\mathbb{R})$. The Fractional Fourier Transform(FFT) [9] of f of order α is defined as

$$f_{\alpha}(\omega) = \mathfrak{F}_{\alpha}[f](\omega) = \int_{\mathbb{R}} e^{i\omega^{\frac{1}{\alpha}} t} f(t) dt$$

k - Fractional Integration

k - Fractional Integration as a modification of Riemann-Liouville fractional integral [2] is defined as

$$I_k^{\alpha}(f)(x) = \frac{1}{k\Gamma_k(\alpha)} \int_0^x (x-t)^{\frac{\alpha}{k}-1} f(t) dt$$

for $k > 0, 0 < x < t < \infty$. It reduces to the classical Riemann-Liouville fractional integral by taking limit $k \rightarrow 1$.

k - Riemann Liouville Fractional Derivative

Let β be a real number, $0 < \beta \leq 1$. The k -Riemann Liouville Fractional Derivative is given as

$$D_k^{\beta} f(t) = \frac{d}{dt} I_k^{1-\beta} f(t)$$

$$I_k^{1-\beta} f(x) = \frac{1}{k\Gamma_k(1-\beta)} \int_0^x (x-t)^{\frac{1-\beta}{k}-1} f(t) dt$$

III. MAIN RESULTS

In this section the new results are found.

Laplace Transform of k -Hypergeometric function

If $R(s) > 0$ and $|\frac{y}{ks}| < 1$ then

$$\begin{aligned}
 &L\{z^{\frac{a}{k}-1} {}_2F_{1,k}[(\alpha, k), (\beta, k); (\gamma, k); yz]\} \\
 &= \frac{k\Gamma_k(a)}{(ks)^{\frac{a}{k}}} {}_3F_{1,k}\left[(\alpha, k), (\beta, k), (a, k)(\gamma, k); \frac{y}{ks}\right] \\
 \text{Proof:} \quad &L\{f(z)\} = \int_0^\infty e^{-sz} f(z) dz \\
 &L\{z^{\frac{a}{k}-1} {}_2F_{1,k}[(\alpha, k), (\beta, k); (\gamma, k); yz]\} \\
 &= \int_0^\infty e^{-sz} z^{\frac{a}{k}-1} {}_2F_{1,k}[(\alpha, k), (\beta, k); (\gamma, k); yz] dz \\
 &= \int_0^\infty e^{-sz} z^{\frac{a}{k}-1} \sum_{n=0}^\infty \frac{(\alpha)_{n,k}(\beta)_{n,k}}{(\gamma)_{n,k}} \frac{(yz)^n}{n!} dz \\
 &= \sum_{n=0}^\infty \left[\frac{\Gamma_k(\alpha+nk)\Gamma_k(\beta+nk)\Gamma_k(\gamma)}{\Gamma_k(\alpha)\Gamma_k(\beta)\Gamma_k(\gamma+nk)} \frac{y^n}{n!} \right] \\
 &\quad \times \left[\int_0^\infty e^{-sz} z^{\frac{a}{k}+n-1} dz \right] \\
 &= \sum_{n=0}^\infty \left[\frac{\Gamma_k(\alpha+nk)\Gamma_k(\beta+nk)\Gamma_k(\gamma)}{\Gamma_k(\alpha)\Gamma_k(\beta)\Gamma_k(\gamma+nk)} \frac{y^n}{n!} \right] \\
 &\quad \times \left[\int_0^\infty e^{-\frac{t}{k}} \left(\frac{t}{ks}\right)^{\frac{a}{k}+n-1} \frac{t^{k-1}}{s} dt \right] \\
 &\quad \left[\text{Putting } sz = \frac{t}{k} \right] \\
 &= \sum_{n=0}^\infty \left[\frac{\Gamma_k(\alpha+nk)\Gamma_k(\beta+nk)\Gamma_k(\gamma)}{\Gamma_k(\alpha)\Gamma_k(\beta)\Gamma_k(\gamma+nk)} \frac{y^n}{n!} dt \right] \\
 &\quad \times \left[\int_0^\infty \frac{e^{-\frac{t}{k}} t^{a+nk-1}}{k^{\frac{a}{k}+n-1} s^{\frac{a}{k}+n}} dt \right] \\
 &= \sum_{n=0}^\infty \left[\frac{\Gamma_k(\alpha+nk)\Gamma_k(\beta+nk)\Gamma_k(\gamma)\Gamma_k(a+nk)}{\Gamma_k(\alpha)\Gamma_k(\beta)\Gamma_k(\gamma+nk)k^{\frac{a}{k}-1}s^{\frac{a}{k}}} \right. \\
 &\quad \left. \cdot \left(\frac{y}{ks}\right)^n \frac{1}{n!} \right] \\
 &= \frac{k\Gamma_k(a)}{(ks)^{\frac{a}{k}}} \sum_{n=0}^\infty \frac{(\alpha)_{n,k}(\beta)_{n,k}(a)_{n,k}}{(\gamma)_{n,k}} \left(\frac{y}{ks}\right)^n \frac{1}{n!} \\
 &= \frac{k\Gamma_k(a)}{(ks)^{\frac{a}{k}}} {}_3F_{1,k}\left[(\alpha, k), (\beta, k), (a, k)(\gamma, k); \frac{y}{ks}\right]
 \end{aligned}$$

Special case: For $k=1$, the result shows Laplace Transform of Hypergeometric function

$$L\{z^{\alpha-1} {}_2F_1[\alpha, \beta; \gamma; yz]\} = \frac{\Gamma(a)}{s^a} {}_3F_1\left[\alpha, \beta, a; \gamma; \frac{y}{s}\right]$$

Fractional Integration of k -Hypergeometric function

Let $\rho, \mu, \nu, \eta, \delta \in \mathbb{C}$ and $k \in \mathbb{R}^+$ be such that $\text{Re}(\gamma) > 0$, $\text{Re}\left(\frac{\lambda}{k}\right) > \max\{0, \text{Re}(\mu - \eta), \text{Re}(\rho + \mu + \nu - \delta)\}$, then for $x > 0$

$$\begin{aligned}
 &\left[I_{0+}^{\rho, \mu, \nu, \eta, \delta} \left(z^{\frac{\lambda}{k}-1} {}_2F_{1,k}[(\alpha, k), (\beta, k); (\gamma, k); z] \right) \right] (x) \\
 &= k^\delta x^{-\rho-\mu+\delta+\frac{\lambda}{k}-1} \frac{\Gamma_k(\lambda)\Gamma_k(\lambda-\mu k+\eta k)}{\Gamma_k(\lambda+\eta k)\Gamma(\lambda-\rho k-\mu k+\delta k)} \\
 &\quad \times \frac{\Gamma_k(\lambda-\rho k-\mu k-\nu k+\delta k)}{\Gamma_k(\lambda-\mu k-\nu k+\delta k)} \\
 &\quad (\alpha, k), (\beta, k), (\lambda, k)(\lambda-\mu k+\eta k, k), \\
 &\quad (\lambda-\rho k-\mu k-\nu k+\delta k, k); \\
 &\quad \times {}_5F_4 \left[\begin{matrix} (\gamma, k), (\lambda+\eta k, k), (\lambda-\rho k-\mu k+\delta k, k), \\ (\lambda-\mu k-\nu k+\delta k, k); \end{matrix} \right] x \\
 \text{Proof: By Saigo and Maeda [10],} \\
 &I_{0+}^{\alpha, \alpha', \beta, \beta', \gamma} x^{\rho-1} = \frac{\Gamma(\rho)\Gamma(\rho+\gamma-\alpha-\alpha'-\beta)}{\Gamma(\rho+\gamma-\alpha-\alpha')\Gamma(\rho+\beta')} \\
 &\quad \times \frac{\Gamma(\rho+\beta'-\alpha')}{\Gamma(\rho+\gamma-\alpha'-\beta)} x^{\rho-\alpha-\alpha'+\gamma-1} \\
 &\left[I_{0+}^{\rho, \mu, \nu, \eta, \delta} \left(z^{\frac{\lambda}{k}-1} {}_2F_{1,k}[(\alpha, k), (\beta, k); (\gamma, k); z] \right) \right] (x) \\
 &= \left[I_{0+}^{\rho, \mu, \nu, \eta, \delta} \left\{ z^{\frac{\lambda}{k}-1} \sum_{n=0}^\infty \frac{(\alpha)_{n,k}(\beta)_{n,k}}{(\gamma)_{n,k}} \left(\frac{z^n}{n!}\right) \right\} \right] (x) \\
 &= \sum_{n=0}^\infty \frac{\Gamma_k(\alpha+nk)\Gamma_k(\beta+nk)\Gamma_k(\gamma)}{\Gamma_k(\alpha)\Gamma_k(\beta)\Gamma_k(\gamma+nk)} \frac{1}{n!} \left(I_{0+}^{\rho, \mu, \nu, \eta, \delta} z^{\frac{\lambda}{k}+n-1} \right) (x) \\
 &= \sum_{n=0}^\infty \frac{\Gamma_k(\alpha+nk)\Gamma_k(\beta+nk)\Gamma_k(\gamma)}{\Gamma_k(\alpha)\Gamma_k(\beta)\Gamma_k(\gamma+nk)} \frac{1}{n!} \frac{\Gamma\left(\frac{\lambda}{k}+n\right)}{\Gamma\left(\eta+\frac{\lambda}{k}+n\right)} \\
 &\quad \times \frac{\Gamma\left(-\mu+\eta+\frac{\lambda+nk}{k}\right)}{\Gamma\left(-\rho-\mu+\delta+\frac{\lambda+nk}{k}\right)} \\
 &\quad \times \frac{\Gamma\left(-\rho-\mu-\nu+\delta+\frac{\lambda+nk}{k}\right)}{\Gamma\left(-\mu-\nu+\delta+\frac{\lambda+nk}{k}\right)} x^{-\rho-\mu+\delta+\frac{\lambda+nk}{k}-1} \\
 &= \sum_{n=0}^\infty \frac{\Gamma_k(\alpha+nk)\Gamma_k(\beta+nk)\Gamma_k(\gamma)}{\Gamma_k(\alpha)\Gamma_k(\beta)\Gamma_k(\gamma+nk)} \frac{1}{n!} \frac{\Gamma\left(\frac{\lambda+nk}{k}\right)}{\Gamma\left(\frac{\eta k+\lambda+nk}{k}\right)}
 \end{aligned}$$

$$\begin{aligned}
 & \times \frac{\Gamma\left(\frac{-\mu k + \eta k + \lambda + nk}{k}\right)}{\Gamma\left(\frac{-\rho k - \mu k + \delta k + \lambda + nk}{k}\right)} \\
 & \times \frac{\Gamma\left(\frac{-\rho k - \mu k - \nu k + \delta k + \lambda + nk}{k}\right)}{\Gamma\left(\frac{-\mu k - \nu k + \delta k + \lambda + nk}{k}\right)} x^{-\rho - \mu + \delta + \frac{\lambda}{k} + n - 1} \\
 & = \sum_{n=0}^{\infty} \frac{\Gamma_k(\alpha + nk) \Gamma_k(\beta + nk) \Gamma_k(\gamma)}{\Gamma_k(\alpha) \Gamma_k(\beta) \Gamma_k(\gamma + nk)} \frac{x^n}{n!} \\
 & \times \frac{\Gamma_k(\lambda + nk) k^{\frac{\eta k + \lambda + nk}{k} - 1}}{k^{\frac{\lambda + nk}{k}} \Gamma_k(\eta k + \lambda + nk)} \\
 & \times \frac{\Gamma_k(-\mu k + \eta k + \lambda + nk)}{k^{\frac{-\mu k + \eta k + \lambda + nk}{k} - 1}} \\
 & \times \frac{\Gamma_k(-\rho k - \mu k - \nu k + \delta k + \lambda + nk)}{k^{\frac{-\rho k - \mu k - \nu k + \delta k + \lambda + nk}{k} - 1}} \\
 & \times \frac{k^{\frac{-\rho k - \mu k + \delta k + \lambda + nk}{k} - 1}}{\Gamma_k(-\rho k - \mu k + \delta k + \lambda + nk)} \\
 & \times \frac{k^{\frac{-\mu k - \nu k + \delta k + \lambda + nk}{k} - 1}}{\Gamma_k(-\mu k - \nu k + \delta k + \lambda + nk)} x^{-\rho - \mu + \delta + \frac{\lambda}{k} - 1} \\
 & = \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k} (\beta)_{n,k}}{(\gamma)_{n,k}} \frac{x^n}{n!} k^\delta \frac{(\lambda)_{n,k} \Gamma_k(\lambda)}{(\lambda + \eta k)_{n,k} \Gamma_k(\lambda + \eta k)} \\
 & \times \frac{(\lambda - \mu k + \eta k)_{n,k} \Gamma_k(-\mu k + \eta k + \lambda)}{(\lambda - \rho k - \mu k + \delta k)_{n,k} \Gamma_k(\lambda - \rho k - \mu k + \delta k)} \\
 & \times \frac{(\lambda - \rho k - \mu k + \delta k)_{n,k}}{(\lambda - \mu k - \nu k + \delta k)_{n,k}} \\
 & \times \frac{\Gamma_k(\lambda - \rho k - \mu k - \nu k + \delta k)}{\Gamma_k(\lambda - \mu k - \nu k + \delta k)} x^{-\rho - \mu + \delta + \frac{\lambda}{k} - 1} \\
 & = k^\delta x^{-\rho - \mu + \delta + \frac{\lambda}{k} - 1} \frac{\Gamma_k(\lambda) \Gamma_k(\lambda - \mu k + \eta k)}{\Gamma_k(\lambda + \eta k) \Gamma_k(\lambda - \rho k - \mu k + \delta k)} \\
 & \times \frac{\Gamma_k(\lambda - \rho k - \mu k - \nu k + \delta k)}{\Gamma_k(\lambda - \mu k - \nu k + \delta k)} \\
 & \times {}_5F_4 \left[\begin{matrix} (\alpha, k), (\beta, k), (\lambda, k), (\lambda - \mu k + \eta k, k), \\ (\lambda - \rho k - \mu k - \nu k + \delta k, k); \\ (\gamma, k), (\lambda + \eta k, k), (\lambda - \rho k - \mu k + \delta k, k), \\ (\lambda - \mu k - \nu k + \delta k, k); \end{matrix} \right] \frac{x}{x}
 \end{aligned}$$

Special case: For $k=1$, the result shows Fractional integration of Hypergeometric function

$$\begin{aligned}
 & \left[I_{0+}^{\rho, \mu, \nu, \eta, \delta} (z^{\lambda-1} {}_2F_1[\alpha, \beta; \gamma; z]) \right] (x) \\
 & = x^{-\rho - \mu + \delta + \lambda - 1} \frac{\Gamma(\lambda) \Gamma(\lambda - \mu + \eta)}{\Gamma(\lambda + \eta) \Gamma(\lambda - \rho - \mu + \delta)} \\
 & \times \frac{\Gamma(\lambda - \rho - \mu - \nu + \delta)}{\Gamma(\lambda - \mu - \nu + \delta)} \\
 & \times {}_5F_4 \left[\begin{matrix} \alpha, \beta, \lambda, \lambda - \mu + \eta, \lambda - \rho - \mu - \nu + \delta; \\ \gamma, \lambda + \eta, \lambda - \rho - \mu + \delta, \lambda - \mu - \nu + \delta; \end{matrix} \right] \frac{x}{x}
 \end{aligned}$$

Fractional Fourier Transform of k -Hypergeometric function

Fractional Fourier Transform of k -Hypergeometric function of order α is

$$\begin{aligned}
 & \mathfrak{F}_\alpha [{}_2F_{1,k} \{ (\alpha, k), (\beta, k); (\gamma, k); z \}] \\
 & = \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k} (\beta)_{n,k} (-1)^n (i)^{-(n+1)} (\omega)^{-(\frac{n+1}{\alpha})}}{(\gamma)_{n,k} n!} \Gamma(n+1)
 \end{aligned}$$

Proof: The Fractional Fourier Transform of k -hypergeometric function for $z < 0$ is

$$\begin{aligned}
 & \mathfrak{F}_\alpha [{}_2F_{1,k} \{ (\alpha, k), (\beta, k); (\gamma, k); z \}] \\
 & = \int_R e^{i\omega \frac{1}{\alpha} z} \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k} (\beta)_{n,k}}{(\gamma)_{n,k} n!} \frac{z^n}{n!} dz \\
 & = \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k} (\beta)_{n,k}}{(\gamma)_{n,k} n!} \int_{-\infty}^0 e^{i\omega \frac{1}{\alpha} z} z^n dz \\
 & = \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k} (\beta)_{n,k}}{(\gamma)_{n,k} n!} \int_0^{\infty} e^{-t} \left(-\frac{t}{i\omega \frac{1}{\alpha}} \right)^n \left(\frac{dt}{i\omega \frac{1}{\alpha}} \right) \\
 & = \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k} (\beta)_{n,k} (i)^{n-1} (\omega)^{-(\frac{n+1}{\alpha})}}{(\gamma)_{n,k} n!}
 \end{aligned}$$

Special case: For $k=1$, the result shows Fractional Fourier Transform of Hypergeometric function

$$\begin{aligned}
 & \mathfrak{F}_\alpha [{}_2F_1 \{ \alpha, \beta; \gamma; z \}] \\
 & = \sum_{n=0}^{\infty} \frac{(\alpha)_n (\beta)_n (-1)^n (i)^{-(n+1)} (\omega)^{-(\frac{n+1}{\alpha})}}{(\gamma)_n n!} \Gamma(n+1)
 \end{aligned}$$

k -Fractional Differentiation of k -Hypergeometric function

If μ be a real number and $0 < \mu \leq 1$,

$$D_k^\mu \left[z^{\frac{\lambda}{k}} {}_2F_{1,k} \{ (\alpha, k), (\beta, k); (\gamma, k); z \} \right] = \frac{\lambda \Gamma_k(\lambda) z^{\frac{1-\mu+\lambda}{k}-1}}{k \Gamma_k(1-\mu+\lambda)}$$

$$\times {}_3F_{2,k} \left[\begin{matrix} (\alpha, k), (\beta, k), (\lambda + k, k); \\ (\gamma, k), (1 - \mu + \lambda, k); \end{matrix} \right] z \times \frac{\Gamma_k(1 - \mu)\Gamma_k(nk + \lambda + k)k^{\frac{1-\mu+\lambda+nk}{k}-1}}{k^{\frac{1-\mu}{k}-1}k^{\frac{nk+\lambda+k}{k}}\Gamma_k(1 - \mu + \lambda + nk)}$$

Proof:

$$D_k^\mu \left[z^{\frac{\lambda}{k}} {}_2F_{1,k} \{ (\alpha, k), (\beta, k); (\gamma, k); z \} \right] \\ = \frac{d}{dz} \left[I_k^{1-\mu} z^{\frac{\lambda}{k}} {}_2F_{1,k} \{ (\alpha, k), (\beta, k); (\gamma, k); z \} \right] \\ = \frac{d}{dz} \frac{1}{k\Gamma_k(1 - \mu)} \\ \times \int_0^z (z-t)^{\frac{1-\mu}{k}-1} t^{\frac{\lambda}{k}} {}_2F_{1,k} [(\alpha, k), (\beta, k); (\gamma, k); t] dt$$

$$= \frac{1}{k\Gamma_k(1 - \mu)} \frac{d}{dz} \int_0^z (z-t)^{\frac{1-\mu}{k}-1} t^{\frac{\lambda}{k}} \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k}(\beta)_{n,k}}{n!(\gamma)_{n,k}} \frac{t^n}{n!} dt$$

$$= \frac{1}{k\Gamma_k(1 - \mu)} \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k}(\beta)_{n,k}}{n!(\gamma)_{n,k}} \frac{d}{dz} \int_0^1 (z-zx)^{\frac{1-\mu}{k}-1} (zx)^{n+\frac{\lambda}{k}} z dx$$

[Putting $t = zx$]

$$= \frac{1}{k\Gamma_k(1 - \mu)} \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k}(\beta)_{n,k}}{n!(\gamma)_{n,k}} \\ \times \frac{d}{dz} \int_0^1 (1-x)^{\frac{1-\mu}{k}-1} (x)^{n+\frac{\lambda}{k}} z^{\frac{1-\mu+\lambda+nk}{k}} dx$$

$$= \frac{1}{k\Gamma_k(1 - \mu)} \sum_{n=0}^{\infty} \left[\frac{(\alpha)_{n,k}(\beta)_{n,k}}{n!(\gamma)_{n,k}} \right. \\ \left. \times \frac{d}{dz} z^{\frac{1-\mu+\lambda+nk}{k}} B \left(\frac{1-\mu}{k}, n + \frac{\lambda}{k} + 1 \right) \right]$$

$$= \frac{1}{k\Gamma_k(1 - \mu)} \sum_{n=0}^{\infty} \left[\frac{(\alpha)_{n,k}(\beta)_{n,k}}{n!(\gamma)_{n,k}} \left(\frac{1 - \mu + \lambda + nk}{k} \right) \right. \\ \left. \times z^{\frac{1-\mu+\lambda+nk}{k}-1} \frac{\Gamma \left(\frac{1-\mu}{k} \right) \Gamma \left(\frac{nk+\lambda+k}{k} \right)}{\left(\frac{1-\mu+\lambda+nk}{k} + 1 \right)} \right]$$

$$= \frac{1}{k\Gamma_k(1 - \mu)} \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k}(\beta)_{n,k}}{n!(\gamma)_{n,k}} \left(\frac{1 - \mu + \lambda + nk}{k} \right) \\ \times z^{\frac{1-\mu+\lambda+nk}{k}-1} \frac{\Gamma \left(\frac{1-\mu}{k} \right) \Gamma \left(\frac{nk+\lambda+k}{k} \right)}{\left(\frac{1-\mu+\lambda+nk}{k} \right) \Gamma \left(\frac{1-\mu+\lambda+nk}{k} \right)}$$

$$= \frac{1}{k\Gamma_k(1 - \mu)} \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k}(\beta)_{n,k}}{n!(\gamma)_{n,k}} z^{\frac{1-\mu+\lambda+nk}{k}-1}$$

$$= \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k}(\beta)_{n,k}}{n!(\gamma)_{n,k}} z^{\frac{1-\mu+\lambda+nk}{k}-1} \frac{\Gamma_k(nk + \lambda + k)}{k\Gamma_k(1 - \mu + \lambda + nk)}$$

$$= \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k}(\beta)_{n,k}}{n!(\gamma)_{n,k}} \frac{(\lambda + k)_{n,k}}{k(1 - \mu + \lambda)_{n,k}} \\ \times \frac{\Gamma_k(\lambda + k)}{\Gamma_k(1 - \mu + \lambda)} z^{\frac{1-\mu+\lambda}{k}-1} z^n$$

$$= z^{\frac{1-\mu+\lambda}{k}-1} \frac{\lambda\Gamma_k(\lambda)}{k\Gamma_k(1 - \mu + \lambda)} \sum_{n=0}^{\infty} \frac{(\alpha)_{n,k}(\beta)_{n,k}(\lambda + k)_{n,k}}{n!(\gamma)_{n,k}(1 - \mu + \lambda)_{n,k}} z^n$$

$$= z^{\frac{1-\mu+\lambda}{k}-1} \frac{\lambda\Gamma_k(\lambda)}{k\Gamma_k(1 - \mu + \lambda)} \times {}_3F_{2,k} \left[\begin{matrix} (\alpha, k), (\beta, k), (\lambda + k, k); \\ (\gamma, k), (1 - \mu + \lambda, k); \end{matrix} \right] z$$

Special case: For $k=1$, the result shows Fractional Differentiation of Hypergeometric function

$$D^\mu [z^\lambda {}_2F_1 \{ \alpha, \beta; \gamma; z \}]$$

$$= \frac{\lambda\Gamma(\lambda)z^{-\mu+\lambda}}{\Gamma(1 - \mu + \lambda)} {}_3F_2 \left[\begin{matrix} \alpha, \beta, (\lambda + 1); \\ \gamma, (1 - \mu + \lambda); \end{matrix} \right] z$$

IV. CONCLUSION

In this paper, some useful results and relations are derived using integral representation of generalized k -hypergeometric functions. An attempt is made to derive k -Beta transform of k -hypergeometric functions. These results can be further extended by special choices of the parameters.

REFERENCES

- [1] S. Mubeen, G. M. Habibullah, "An integral representation of some k -hypergeometric functions", *International Mathematical Forum.*, vol. 7, pp. 203-207, 2012.
- [2] S. Mubeen, G. M. Habibullah, " k -Fractional integrals and Applications", *International Journal of Contemporary Mathematical Sciences*, vol. 7, pp. 89-94, 2012.
- [3] E. Pariguan, R. Diaz, "On hypergeometric functions and pochhammer k -symbol", *Divulgaciones Matematicas*, vol. 15, no. 2, pp. 179-192, 2007.
- [4] Mansour, M., "Determining the k -generalized gamma function by functional equations", *Int. J. Contemp. Math. Sciences*, vol. 4, pp. 1037-1042, 2009.
- [5] Kokologiannaki, C. G., "Properties and inequalities of generalized k -gamma, beta and zeta functions", *Int. J. Contemp. Math. Sciences*, vol. 5, pp. 653-660, 2010.
- [6] Krasniqi, V., "A limit for the k -gamma and k -beta function", *Int. Math. Forum*, vol. 5, pp. 1613-1617, 2010.
- [7] Merovci, F., "Power product inequalities for the k -gamma function", *Int. J. Math. Analysis*, vol. 4, pp. 1007-1012, 2010.
- [8] Luis Guillermo Romero, Luciano L. Luque, Gustavo Abel Dorrego, Ruben A. Cerutti, "On the k -Riemann-Liouville Fractional Derivative", *Int. J. Contemp. Math. Sciences*, vol. 8, no. 1, pp. 41-51, 2013.
- [9] L. Romero, R. Cerutti, L. Luque, "A new Fractional Fourier Transform and Convolutions Products", *International Journal of Pure and Applied Mathematics*, vol. 66, pp. 397-408, 2011.
- [10] M. Saigo, N. Maeda, "More generalization of fractional calculus", *In: Transform Methods and Special Functions, Varna96 (Proc. Second Internat. Workshop)*, pp. 386-400, 1998.